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1. (25%) A 50-kg iron block (Cp=0.45 Kl/kg°C ) and a 20-kg
copper block(Cp=0.386 KJ/kg ° C ), both initially at 80° C,

and dropped into a large lake at 15°C. Thermal equilibrium

1s established after a while as a result of heat transfer between

the blocks and the lake water, Determine the tota] entropy

generation (KJ/ ° K) for this process.

2. (25%) Define or describe the following:
(a) Joule-Thompson coefficient (8%)
(b) Generalized compressibility chart (8%)
(c) The advantage of multistage  compression

inter-cooling (9%)
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